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Direction (1-5): Read each part of the sentence to

find out if there is any error in it. The error, if
any, will be in one part of the sentence. The
number of that part is the answer. If there is no

error, mark your answer as (5).
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QUESTION 1 ¢:30

The presence of tiger in non-reserved area
(1)/ has brought joyous to the forest
department (2)/ heightening expectations
that overall population of tigers (3)/ in the
city would go up (4)/ No error (5)
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QUESTION 2 0:30

The slight improvement in the temperature (1)/ has
failed to give any respite (2)/ from the fog it has
delayed (3)/ the movements of flights, trains and
buses (4)/ No error (5)
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QUESTION3  0:30

Along with the spell of cold weather (1)/ mango
flowers need a good amount of sunshine (2)/
during the day to bloom properly and kill any
pests or fungus (3)/ that grows on them (4)/ No
error (5)
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QUESTION4  0:30

De Beers is anticipated the Christmas
season in 2014 (1)/to remain robust (2)/
following increased demand from America
(3)/ and other diamond consuming markets
(4)/ No error (5)
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QU ESTION 5 0:30

The state government needs private sector
participation (1)/ to attract investment in
healthcare sector (2)/ to facilitates establishment
of quality healthcare institutions (3)/ within the
framework of set standards and norm (4)/ No
error (5)
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Directions(Q6-10): Which of the
Phrases(1), (2) (3) and (4) given below

each sentence should replace the phrases

printed in bold in the sentence to make it
srammatically correct ? If the sentence is
correct as it is given and no correction is

required, mark (5) as the answer.
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QUESTION 6 0:30

Progress in the peace process has
create ground for a consensus in Nepal

(1) Have create grounds
(2) Had creating grounds
(3) Had create grounds

(4) Has created grounds
(5) No Correction Required
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QUESTION 7 0:30

The suspects could not be arrested as they
had obtained stay from the court.

(1) Could not become arrest
(2) Could not being arrest
(3) Could not be arresting
(4) Could not been arrests
(5) No Correction Required
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QUESTION 8 0:30

The students were upset in poor
infrastructure of the college.

(1) Upset of

(2) Upset with

(3) Upset at

(4) Upset behind

(5) No Correction Required
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QUESTION 9 0:30

The city has shown improvement in the
basic amenities such like drinking water,
electricity supply and cooking fuel.

(1) Such as

(2) Such for

(3) As such

(4) For as such

(5) No Correction Required
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QUESTION 10 0:30

The meetings were marked by candid
exchange of views and sharing of information
about the regional environment.

(1) By marked

(2) Marks by

(3) Mark by

(4) Marking by

(5) No Correction Required
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Directions (Q11-15): Rearrange the following
sentences (A), (B), (C), (D), (E) and (F) in the proper
sequence to form a meaningful paragraph, then

answer the questions given below them.
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QUESTION 11-15 5:00

(A) It takes 3-4 months for the vegetable crops to start yielding and generate
income compared to paddy, wheat or fruit trees.

(B) And disease attack mainly due to their tender and soft skin.

(C) and till date complete control over the pests has been a challenging risk.

(D) Be it traditional varieties or hybrids the fact remains that the crop gets infested
with pests

(E) Compared to grains like paddy or wheat, vegetables are considered quick
money for a farmer.

(F) Having a shorter life span, the crops are more prone to inspect pests
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Directions (16-20):In each of the following

sentences there is a blank space given. Below each

four words have been denoted by numbers (A),
(B), (C), and (D). Find out which two words can be
filled up in the blank alternatively to make the

sentence meaningfully complete.
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QUESTION 16

Nights have started to ------------ small groups of people
warming their hands around bonfires on almost all streets.

(A) Share (B) have (C) witness (D) instigate

(1) Aand B
(2) Aand C
(3) Band E 0:45
(4) Band C
(5) Cand E
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QUESTION 17

For tackling the crisis, the water authority arranged around
52 trips of tankers and supplied around 6 lakh litres water to
———————————————— parts of the city.

(A) Various (B) majority (C) old (D) distinct

(1) Aand C

(2) Band D [

(3) Band C 0:45
(4) Cand D

(5) Aand D
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QUESTION 18

--------------- personal hygiene along with routine
immunization is important for both infants and children.

(A) Keeping (B) Honing (C) maintaining (D) replicating

(1) Band D

(2) Cand D :

(3) Aand C 0:45
(4) Aand B

(5) Band C



/$BI CLERK 2022 / at 10:30 am o

QUESTION 19

Children should not be stopped playing out in the
dust as it ----------=----———- their ability to fight
bacteria.

(A)Assumes (B) focuses (C) strengthens (D) boosts

(1) Aand B (2) Band C

0:45
(3) Aand C (4) Band D
(5)Cand D
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